
 



Lösung zu Klassenarbeit Nr. 1 
 

1. Bei Potenzen mit gleichem Exponenten, wird die Basis multipliziert und der 

Exponent beibehalten. 

 

2. a.) 61046214621000000   

b.) 100,000000000123 1,23 10   

 

3. a.) 75 2,1610 aa   

b.) 7b² - 7c² 

 

4. a.) b14  

b.) xc14  

c.) 
625

1

h
 

d.) 32 xa  

e.) nb 25  

f.) 
5

1

e
 

g.) 1

5

1 nk  

 

5. 

7083,6457082,6

709,645708,6

71,64570,6

8,6457,6

7456











 6,708 

 

6. a.) 1,5 

b.) 
²5

²3

x

a
 

c.) 72052   

d.) 8 

e.) 2 

f.) 75 
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